T DAY 0 OO0 0
MCV-002-001513

Seat No.

B. Com. (Sem. V) (CBCS) Examination

May / June - 2018

Advanced Statistics :

1
Time : 25 Hours]

ya- : (a
R

(1)
()
(3)
(x)

¥

9 AL 4l umendl

oyl % Yl SAxAUL 9.

Faculty Code : 002
Subject Code

Paper - V

: 001513

sasyder-l Gualal sraldl 92 6.

(1) s ya9 K0 27 [y sdldl

R

¥

T OB il 9L 6 Al oferdl AL uReun 1A
yorol WA ¢

()
(3) usi-1 ofe 2 WSR2 Ma
()

Maswlla uRseyql »ia dsfas ulseusu

AUdAAL Wzl 2 Edsdil sau.

[Total Marks :

oHR(l eugal duial s Uusd<l dRL suld ©.

iisslael siesl [sdldl 2l 2ial.

Avy|

L

wHLBIA [Quan

ELIEN

100

61

4

NETIEN]

64

60

2

MCV-002-001513]

70

RO

RO

[ Contd....



(1) 5% wWdsdldl sauxl Ax sl wsi 3 1A 9RAA) dslad

s © 7

() 5% wdscidl sauxl A 561 wsia 3 Wl Qg 92

dslad wels 9 ?

2 () s Hll 400 argilil 20 argail vuHlaell G~ 52 8. y
HolldA AU sl ugsl d 300 drg@idl 10 degail vuHlaisl
Gaul $3 8. 9 21 Wl wel wu s€l asta w3 3 wellqmi

YU 2d) © 7

(o) s ss1d 36 avid Godi 24 quid 914 A S, 20 Wl u
YR 2Y sEl AsU v 5 Uss) vlidd (ENRlBd) 8 7

(5) @y [Med udlael i o)y Med ulaedl AL dsiads y
Yelvll e,

(3)  ols [gra wHey ailfRuidl dlial 27 se- Med-l ugiciis u
0.60 1o 8. Al UsAsidis 0.50u1 [Hswl uRseuxlsd
ulagl 3.

YAl

2 () A wHey yulBamidl welos A didl 4 FHUa Hedl 10

A wwe 9

Med —1 41 49 36 34 46
el —2 46 44 35 30 26

36 50 20 21
29 28 - -

5% sl seud ‘ol UL [QAWL YHIL 9.

dd 5% wdsdil sauxt ulawl s,

MCV-002-001513] 2 [ Contd....



(o) 5 eefalld A5 AlssA edl YAl A¥-L 6D A2d 3 0

Aldl-l eolRML 2AAl QUIRL AdAMD 2l ¥ <R wLlL 9
4, 3,0, 7 -1

L HUBAAL 2M1R 2 sdl sy W3 3 AU sdln 8
cldlHl souRMi aqIL qdL © 7

3 () 02 wlsdl W Waa Rderd s-arad s @A asdl 0
Yl 5% i 1% Adsdi-l sauxt udlawl s

f |616| 70 | 10 | 2 1

R 2
(o) «{lAl 2 x 3 sf2-oril s uell X7l Bud Q). y
10 15 25
25 10 15
Y ql

N

3 (a) »sld el qpadl O aufEaid dia d FHua el 10
el wsdl <A yHw 8

Avy| I YRl [Quan
Mesd-1 10 20 5
Med -2 12 24 6

1% 1 5% sl saunl H, @y = py < uidlaw s,

MCV-002-001513] 3 [ Contd....



(o) 2 x2 sl fres

ABd s,

¥ [aRed yussel vied g 7 Gelswil gl s driuMly ao(lswl Y
2 A ol qofsael e el yasswisdl dd asondl.

Yql

¥ Al dfq AR Aleeldl WlEdl M2 e yusswl s Y

DA2) | A7) |c@7y ] BA7)
B(22) | DA0) | A5) | C21)
A(12) | c9) | Bao) | D)
ca8) | Ba2) | D) | 4(7)

ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Figures to the right side indicate the marks.
(3) Use of calculator is permitted.
(4) Statistical tables will be given on request.

1  Explain the following terms : 20
(1) One tailed test and two tailed test
(2) Null Hypothesis and Alternative Hypothesis
(3) Type-l Error and Type-Il Error
(4) Degrees of freedom and Level of significance.
OR
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[.Q. test on two groups of boys and girls gave the following 20

results :
Numbers Mean S.D.
Boys 100 61 4
Girls 64 60 2

(1) Is there a significance difference in the mean scores

obtained by boys and girls at 5% level of significance ?

(2) Is there a significance difference in the standard
deviations obtained by boys and girls at 5% level of

significance ?

2  (a) A machine produced 20 defective articles in a batch of 5
400. After overhauling it produced 10 defective articles

in a batch of 300. Has the machine improved ?

(b) A coin is tossed 36 times and heads appear 24 times. 5
Does this result support the hypothesis that coin is

unbiased ?

(c) State the difference between small sample tests and 5

Large sample tests.

(d) A random sample of 27 pairs of observations from 5
the bivariate normal population gave the correlation
coefficient 0.60. Test the hypothesis that population

correlation coefficient 1s 0.50.

OR
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2 (a) The following are two independent random samples 10
drawn from two normal populations. Test the hypothesis
that population variances are equal by using 5% level

of significance :

Sample —1 41 49 36 34 46

Sample —2 46 44 35 30 26
36 50 20 21
29 28 - -

(b) A certain medicine given to each of 5 patients resulted 10
in the following increase of blood pressure :
-4, 3,0, 7, -1
Can 1t concluded that the medicine will be general

accompained by an increase in blood pressure ?

3 (a) Fit a Poisson distribution to the following data and 10
test the goodness of fit. Use 5% and 1% level of

significance :

f |616| 70 | 10 | 2 | |

2 .
(b) Calculate the value of X for the following 2 x 3 5

contingency table :

10 | 15 | 25
25 | 10 | 15

OR
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3 (a) For two independent random samples, the following 10

information is obtained :

Sample | Size Mean S.D.
1 10 20
1 12 24

Test the H, :uy = U, at 5% and 1% level of

significance.
_ a
(b) For 2 x2 contigency table P prove that 5
a
2
2 . 2a-b
value of X s (a-b)
a+b
4  What 1s an analysis of variance ? Explain the method 15

of ANOVA for (1) one way classification (2) two way
classification by illustrations.

OR
4  Analyse the following L.S.D. data completely : 15
DA2) | A(7) | C(27) | B(17)
B(22) | DA0) | A(5) | C(2))
A(12) | C(19) | B(10) | D(8)
C(8) | B(2) | D(6) | A(7)
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